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Uqpurlphtp 2s63000

1.Utm|l4, qrlq p{ r{
1.1 15831000 curpurn ur{uiq l.tq 400 100000 250
1.2 '15430000 3nlrl a< qc 1500 75000 50
1.3 15540000 'rlubhn trc 2000 '100000 50
1.4 15512000 IdFqu1utF 250 62500 250
1.5 15500000 c< mnLq' 300 30000 100

32113000 E[L]d rnu'ln Ltq 500 24504 49
1.7 15511600 tuuuqrrub qurld c< mnL+ 500 25000
1.8 15841000 qulruln nnL+ 100 3000 30

15850000 lrc 400 60000 150
'1.10 3211300 qc 600 30000 50
1.11 3212220 lqqqduqur qq 700 35000 50
1.12 3212211 PuquFt]rtli qc 500 15000 30
1. 13 't5112150 I1uul l.tq 900 36000 40

15111100 uhu hu'lh c< qq 1500 75000 50
1.15 154111A0 qc 2500 100000 40

15331427 c< ',n 704 35000 50
1.17 15863200 qc 900 9000 10
1.18 3142500 rdtl qc 7000 7000 l
1.19 15872400 2m hurm 70 35000 500



1.20 15820000 Un 200 6000 30

1.21 15820000 mnui' 200 10000 50

1.22 3212100 rdh!1l18puHbp u'nLqr 400 20000 50

1.23 3221000 riu,n'nn$hr qq i50 75000 500

1.24 3221113 quUurh quq 200 10000 50

1.25 3221113 unlo qc 300 15000 50

1.26 3222321 IuhAnF qc 300 15000 50

1.27 3221270 .lurnnLlq lrq 200 12000 60

1.28 3221240 Lnhq c< qc 200 10000 50

1.29 3221111 6urlilrlb4 qq 300 6000 20

1.30 3221112 qq 300 30000 100

1.31 3221410 qurlurdp c< trc 200 40000 200

1.32 '15612100 UUnLn !c 250 750000 3000

1.33 15530000 !q 3200 144000

2000000

2. qluuut{lrlU{rllrt qDlPtF L urtut 
'{urFuqotbF

2.1 30199500 Onrduu]urLurb urBuqurturF FCU2 200 6000 30

2.2 30192930 o.rnh> qnh> FCUz 400 7600 19

2.3 39132300 qluhrltnurrhtr ounurtrB / $utt / FCUz unr+ 1200 7200 6

2.4 30197121 qndour tnlurdrur FCU2. uqr 300 7500 25

2.5 24910000 Unuhli. / f}nl"t uvrdurnurDnr.h / FCUZ 250 12540 50

2.6 30192121 qnh\ / almhtur nn / FCU2 90 9000 100

2.7 30197630 |anrllr' A4 $nn{uuh FCU2 3000 90000 30

2.4 30102100 ntvlht 300 5700 19

2.9 30192135 uulutru qFultblllt flltm\nq FCU2, '150 4500 30

2.10 22813000 qhnp/ 100 pbnp FCUZ hrur 1500 15000 10

2.11 22810000 hurlluluuhurUurtr dhtn Feuz hlr1n 35 35000 1000

200000

3. unDneurulDiurtuh L rurEnnulnnn hlDLptE

3.1 33000000
Unnl12uquthu{l:rL L rupnnurutnF

FCUZ 20000

3.2 33111000 Un bunulrnlrdrnrhLtn FCU2 30000

50000

4. Stubuurl{urhuqnurLpLbF

4.1 3943L246 Lr.luqnn !rnL|abn FCU2 Iulr.r 800 16000 20

39437247 06un FCU2 hurur 500 20000 40

4.3 39836000 Urlbl FCU2 hrlrur 1500 18000 12

39812300 durdbl FCU2 400 8000 20

39831240 urftutuhhnh r rlurorirutr htnmlt 750 15000 20

4.6 39831242 I.d]lrcph tm2h FCU2 huru 750 15000 20

31600000 LLtqupu\urt qlrnulnurh FCUZ 10000 50000 5
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u. qnFbUUtr

5. <urun { trqouqu.rlhh tr

5.1 9L34270 +hqbtuthh {urnb tP FCUe truB 400 300000 750

300000

71314000 hrhur.rFntthFqhu{h rq2FlIL- 63000

6.2 32412110 2uI uqurl& FCU2 n{rud 60000

6.3 661 1'1 100 Furtl|ulhh Eunr|lnlFtn r FCUz rlnurd 20000

48000000 UUpU trutUplritrLu ppLuqn n!]]]!!!b-ql 4nuJd 20000

6.5 85121000 ConhLu0ntn FtrntlDh ultL dunu{ntont


